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Pasttest
Directions: Solve the following problems. Please note posttest


problems are numbered to match learning unit numbers.
Complete solutions are provided beginning on page 211.


1) Which number is fifteen thousand four hundred sixty? 12) Round 68,559 to the nearest
thousand.


A) 15046 B) 15406


C) 15460 D) 14064 Answer-


3A) 96 + 673 + 9 = 13B) 704 - 38 = 4A) 86 x 406 =


5) Simplify 4 + 2(12 -4) + 22 6) What are the prime factors of 30?


4B) 47 }51653


7) Which of the following is less than ~ ?


A) ~5 B) 1-6 C) Z8 D) 170 Answer


150








151


8) Write an equivalent fraction 9) 4 3 2 10) 4 2-+- -- = 5-3 =for in twelfths. 5 5 5


g--
3 - 12


11) 25 5 12) 7-3g = 13A) 12x3 =-- =
3 . 6 5 3


"


13B) 8+ = 14) Which of the following is 15) Round 237.42674 to the
smallest? nearest thousandth.


A) 106.192
B) 106.089
C) 106.093
D) 107.09


Answer


16A) 63.43 + 8.4 + 122.9 + 12.015 = 16B) 6.15x 2.24 =


17) Write i as a decimal. 18) Express traveling 240 miles 19) Choose the correct symbol.5
in 4 hours as a rate. (>, =, <)


7
8-12








20) Solve for x.
1-L
9 - 18


23A) What is 9% of 60?


24A) By what percent is 60
larger than 45?


25B) (.3)2 =


21A) Write 5/8 as a percent.


21B) ,Write .8 as a percent.


22A) Write 57% as a fraction.


22B) Write 5% as a decimal.


23B) 30 is 60% of what number? 123C) 7 is what percent of 35?


24B) What is the result when 40 I25A) (14)2 =
is increased by 30%?


25C) I8f =


152


25D) [l54 =








26A) Evaluate 3x - y2 when
x = 4 and y = 3.


26B) Jane, who is 9 years old, 127A) Solve for x.
is one-third the age of her
mother. How old is Jane's I x + 12 = 15
mother?


27B) Solve for x. 28) Angle A is


8x - 18 = 3(2x - 3) A) obtuse


B) acute ~
AC) right


D) straight


29A) Angle ACB of triangle ABC has


29B) Side BC of triangle ABC is


degrees. c


~30° 30°
A B


long.


30) Are triangles ABC and DEF congruent? Why?


C


3~70°
A 8in. B


F


~in. 70°
E 8in. D


31) A family drove for 7 32) Our family in question 31 33) Find the circumference
hours at 55 miles per wants to travel 455 miles of a circular deck with a
hour. How far did they in 7 hours. How fast must radius of 8 feet. 1t= 3.14
travel? they travel?
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34) A parallelogram has a base
1


35) Find the volume of a 10"
of 12" and a height of 11". by 15" by 12" aquarium.
Find its area.


36) How long would it take $300 to
earn interest of $42 with a
simple interest rate of 4%?


37) The hypotenuse of a right
triangle is 15' and a leg is
9'. Find the length of the
other leg.


38) Bob earns $5 per hour for 39) Carlos bought 3 sodas for 65~
a 35-hour week during his each, 2 hot dogs for $1.25 each,
14-week summer vacation. and a hamburger for $1.75. He
Find his summer wages. paid with $10. Find his change.


40) How much would 2~ pounds 41) Bill earned $210 for 30
of chicken cost at $1.88 per hours work. Find his
pound? pay rate and earnings


for a 40-hour week.


42) How much will Maria have left
after paying an 18% tax on her
$25,000 salary?


43) Salem and Plymouth are at opposite sides of Blue Lake. Kingston is 15 miles
from Salem and 9 miles from Plymouth. How long does a boat traveling at 2.5
miles per hour take to get from Salem to Plymouth? Salem


.~e'b


,,~~


Kingston 9 miles Plymouth
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44) 1985 cassette sales units were approximately Audio Cassette Sales
500


A) 330
B) 33,000
C) 330,000,000
D) 3,300,000


Answer


~400,.
'C
~ 300
~
~ 200
III
G)


~100


0
1975 1980 1985 1990


Years


'45) Solve the following:


A) 7 + (-13) = B) -10 - (-50) = C) (-10)(3) = D) 75+(-15)=-


46) What inequality does this graph represent?


~ I I I I
-4 -3 -2 -1


I I , I ,-
0 +1 +2 +3 +4


A) x > + 2 B) x ~ + 2


C) x < + 2 D) x ~ + 2 Answer


47A) What is the mean of the following numbers?


3, 4, 5, 5, 9, 10


Answer


47B) A hat contains 2 red cards, 3 blue cards, and 5 orange cards.
What is the probability of drawing a red card?


A) 2 B) 30%


48A) 25 lb. 9 oz.
- 8 lb. 12 oz.


2
C) 10


7
D) 10


Answer


48B) Mary's flight left at 10:10 a.m. and arrived
at 2:15 p.m. How long was her flight?


49) How many centimeters are there in 1,500 millimeters?


See page 211 for complete solutions to this posttest.
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26A) Evaluate 3x - y2 when
x = 4 and y = 3.


3 x 4 - 32


26B) Jane, who is 9 years old, is
one-third the age of her
mother. How old is Jane's
mother?


27A) Solve for x.


3x4-9


12-9


3


9 = ~(x)


3(9) = ~(x)(3)


x = 27 years


x+12=15


x+12-12= 15-12


x=3


~
A


8x - 6x = 6x - 6x + 9


2x= 9


2xJ2= 9/2


x=4.5


29A) Angle ACB of triangle ABC has 120 degrees.
c


~30° 30°
A B29B) Side BC of triangle ABC is 4" long.


30) Are triangles ABC and DEF congruent? Why? C


Yes. Triangleswith2 sidesandtheir 3 i~included angle equal are congruent (SAS). 70
A 8in. B


F


~in. 70°
E 8in. D


31) A family drove for 7 hours 32) Our family in question 31
at 55 miles per hour. wants to travel 455 miles
How far did they travel? in 7 hours. How fast must


D = rt they travel? D = rt


33) Find the circumference
of a circular deck with
a radius of 8 feet.


455 miles = r7 hours


C = 21tr


= 2(3.14)(8)


= 50.24 feet


= 55mileS(7hours)hour


455 miles = r(7hours)


= 385 miles
r=65 MPH
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27B) Solve for x. 28) Angle,A is. A


8x -18 = 3(2x - 3) A) obtuse


8x -18 = 6x - 9 B) acute


8x -18 + 18 = 6x - 9 + 18 C) right


8x = 6x + 9 D) straight







34) A parallelogram has a
1


35) Find the volume of a 10"
base of 12" and a height by 15" by 12" aquarium.
of 11". Find its area.


A = bh


= 12(11)


= 132squareinches


37) The hypotenuse of a
right triangle is 15' and
a leg is 9'. Find the
length of the other leg.


H2 = a2 + b2


152 = 92 + b2
225 = 81 + b2


144 = b2


b= 12 feet


40) How much would 2~
pounds of chicken cost
at $1.88 per pound?


( $1.88)(2~pounds)pounds 4


= (1.88)( ~)
- 20.68
- 4


= $5.17


v = Iwh


= 10(15)(12)


= 1,800 cubic inches


36) How long would it take $300
to earn interest of $42 with a
simple interest rate of 4%?


I = prt .


42 = ($300)(.04)t


42 = 12t


t= 3.5 years


38) Bob earns $5 per hour for 39) Carlos bought 3 sodas for 65~
a 35-hour week during his each, 2 hot dogs for $1.25 each,
14-week summer vacation. and a hamburger for $1.75. He
Find his summer wages. paid with $10. Find his change.


weekly earnings


$5 x 35 hours = $175


summer earnings


$175 x 14 weeks = $2,450


41) Bill earned $210 for 30
hours work. Find his pay
rate and earnings for a
40-hour week.


pay rate = dollarsearnedhours worked


- $210 = $7.00- 30


earnings = rate x h~urs
= ($7)(40) = $280


soda = 3($.65) = $1.95
hot dogs = 2($1.25) = $2.50
hamburger = $1.75


spending = $1.95 + $2.50 + $1.75
= $6.20


change = $10.00 - $6.20 = $3.80


42) How much will Maria have left
after paying an 18% tax on her
$25,000 salary?


tax ...1!L- --2:
100- $25,000


(18)(25,000) = (100)(x)


x = $4,500


balance


$25,000 - $4,500 = $20,500


143) Salem and Plymouth are at opposite sides of Blue Lake. Kingston is 15 miles from Salem and
9 miles from Plymouth. How long does a boat traveling at 2.5 miles per hour take to get from
Salem to Plymouth?


Distance H2 = a2 + b2


152 = 92 + b2


225 = 81 + b2


225 - 81 = 81 + b2 - 81


144 = b2


b = 12 miles


Time


D=rt


12 = 2.5t


12/2.5 = (2.5t)/2.5


t = 4.8 hours
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Salem


'~0tb
~~~ .


Kingston 9 miles Plymouth








Posttest Solutions
These posttest solutions have been
provided to help students understand how
to do those posttest problems answered
incorrectly. If looking at the solution does
not make the math required to do the
problem clear, study the learning unit that
matches the problem's number.


Posttest Solutions
Please note that posttest solutions are numbered to match learning unit numbers.


1) Which number is fifteen thousand four hundred sixty? 12) Round 68,559 to the
nearest thousand.


A) 15046 8) 15406
69,000


C) 15460 D) 14064


3A) 96 + 673 + 9 =


96
673


+~
778


48) 47) 5 1 653


1,099
47 ) 5 1 653


47
46
Q..Q


465
423


423
423


0


Answer ~
38) 704 - 38 = 4A) 86 x 406 =


406
x 86
2436


3248
34,916


6914


704
- 38
666


5) Simplify 4+ 2(12 - 4) +22 16) What are the prime
factors of 30?


4+2(12-4)+22 (2)(15)
(2)(3)(5)


4 + 2(8) + 4
2, 3, and 5 are the
prime factors of 30.4 + 16 + 4


4+4


8


7) Which of the following is less than ~ ?
5 4 7 7


A) 5 8) 6 C) 8 D) 10 Answer 8


5/5 = 1 which is larger than 4/5.


Sixths are less than fifths so 4/6 is less than 4/5.
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10)9)8) Write an equivalent
fraction for ~ in


3
twelfths.


1 ~-
5 - 3 -


432-+--- -555


4 4x3 12
5 = 5x3 = 15
2 2x5 10


-3 = - 3x5 = - 15


-I ~
-5-5


5
=5


~ - 2x4 - ~
3 - 3x4 - 12 --


2
15=1


7~-3g =
5 3


25 5
3'+6 = 13A)11) 12) 12x 3g =3


7~ = 7 + 3x3= 7 J!..= 6245 5x3 15 15


- 3g = 3 + 2x5 = -310 = - 3103 3x5 15 15


5 2 4


't2-.x J.1-= 44
1 '-3-.


1


'2S. -s...
-s--X--s--:..
1 1


= 10


- -


31415


Note: Borrowing was required.


8+1 -5 -13B) 14) Which of the following
is smallest?


15) Round 237.42674 to the
nearest thousandth.


2 5'-8--x - = 10
- '4--
1 1


A) 106.192
B) 106.089
C) 106.093
D) 107.090


237.427


Answer ~,


16A) 63.43 + 8.4 + 122.9 + 12.015 = 16B) 6.15x2.24 =


1 1 1 6.15
x 2.24


2460
1230


1230
13.7760


63. 430
8. 400


122. 900
+ 12. 015


206. 745


17) Write 1 as a decimal. 118) Express traveling 240 miles
1


19) Choose the correct symbol.
5 in 4 hours as a rate. (>, =, <)


5 7- -
8-12.8


5~
4 0


0


240 miles 60 miles
4 hours - hour


5x12?8x7


60 > 56
5 7
8"> 12


212







20) Solve for x.


1-~
9 - 18


(4)(18) = 9x


72 = 9 x


x=8


23A) What is 9% of 60?


~-~
100- 60


(9)(60) = 100 x


540 = 100x


x= 5.4


21A) Write 5/8 as a percent.


5 100% - 500% - 62 501
08X~--S- . I(


21B) Write.8 as a percent.


.8 x 100% = 80%


22A) Write 57% as a fraction.


1 -2L
57% ~ (57)(100) - 100


22B) Write 5% as a decimal.


5% ~ 5x.01 = .05


23B) 30 is 60% of what number? 123C) 7 is what percent of 35?


~_30
100- x


60x = (100) (30)


60x = 3, 000


x=50


2... - l
100- 35


35x = (100) (7)


35x = 700


x = 20%


24A) By what percent is 60
1


24B) What is the result when 40 125A) (14)2 =
larger than 45? is increased by 30%?


2... - 60 - 45
100 - 45


2... - 15
100 - 45


45x = (100) (15)


45x = 1,500


x = 331%3


25B) (.3)2 =


(.3)(.3) = .09


~-~
100- 40


(30)(40) = (1 OO)x


1, 200 = 100x


x = 12 and


40 + 12 = 52


25C) J81 = 9


Note: (9)(9) = 81
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(14)(14) = 196


25D) J .04 = .2


Note: (.2)(.2) = .04





